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Reasoning Mega Quiz for SSC CHSL 

 

Q1. Select the related letters from the given alternatives.  

TRPN : LJHF : : ZXVT : ? 

(a) RPMN  

(b) RPNL 

(c) XWUS  

(d) PNLI 

 

Q2. Select the odd number from the given alternatives 

(a)   

(b)   

(c)   

(d)  

 

Q3. A series is given, with one number missing. Choose the correct alternative from the given ones 

that will complete the series.  

8, 17, 33, 67, ? 

(a) 131  

(b) 132 

(c) 133  

(d) 135 

 

Q4. What will be come at the place of ?.  

 

(a) 60  

(b) 68 

(c) 55  

(d) 65 
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Q5. A student is typing on the keyboard of computer from 1 to 500 digits and numbers. Then how 

many times he will press the buttons of key–board ?  

(a) 500  

(b) 600  

(c) 1000  

(d) 1392 

 

Q6. Arrange the following words as per meaningful order 

(1) Birth  

(2) Death  

(3) Childhood  

(4) Infancy 

(5) Adolescence  

(6) Adulthood 

(7) Old age 

(a) 2, 6, 7, 5, 4, 3 , 1  

(b) 1, 4, 3, 5, 6, 7, 2 

(c) 1, 4, 3, 6, 5, 7, 2  

(d) 2, 7, 6, 4, 5, 3, 1 

 

Q7. In the following figure, the boys who are athletes and disciplined are indicated by which 

number? The triangle represents girls, circle athletes, the rectangle boys and the square 

disciplined. 

 

(a) 1  

(b) 2 

(c) 6  

(d)10 

 

Q8. How many times the hands of clock will make right angle in a day?  

(a) 48  

(b) 44 

(c) 43  

(d)42 
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Q9. Find the number of triangles in the given figure.  

 
(a) 12  

(b) 18  

(c) 22  

(d) 26  

 

Q10. Aditya went 15 kms to the west from his house, then turned left and walked 20 kms. He then 

turned East and walked 25 kms and finally turning left covered 20 kms. How far was he from his 

house?  

(a) 5 kms 

(b) 10 kms 

(c) 40 kms 

(d) 80 kms 

 

Q11. Select the related word from the given alternatives.  

Giant : Dwarf : : Genius : ? 

(a) Gentle 

(b) Tiny 

(c) Wicked 

(d) Idiot 

 

Q12. Select the odd number pair from the given alternatives.  

(a) 55–55  

(b) 26–61 

(c) 13–31  

(d) 46–64 

 

Q13. A series is given, with one number missing. Choose the 

correct alternative from the given ones that will complete the 

series.  

M5D, O7G, Q10J, ?, U19P 

(a) S14M  

(b) S15N 

(c) N15S  

(d) N16S 
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Q14. What will be come at the place of ?.  

 
(a) 8  

(b) 3 

(c) 6 

(d) 36 

 

Q15. If '©' means 'subtraction', '∆' means 'addition, then find the value of 94 ∆ 27 © 44 © 56 ∆ 20 

(a) 41  

(b) 45  

(c) 47  

(d) 48 

 

Q16. Arrange the given words in the sequence in which they occur in the Dictionary.  

(1) Frankenstein  

(2) Frankincense 

(3) Frankalmoign  

(4) Frauendienst 

(a) 3, 2, 1, 4  

(b) 1, 3, 2, 4 

(c) 4, 1, 2, 3 

(d) 3, 1, 2, 4 

 

Q17. In the given diagram, rectangle represents players, square represents cricketers, triangle 

represents teachers and circle represents dancers, then which number represents the players, 

cricketers, teachers and dancers?  

 
(a) 2  

(b) 5 

(c) 6  

(d) 3 
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Q18. If on October 25, is Thursday, How many Monday will be in October month?  

(a) 3  

(b) 4 

(c) 5  

(d) 6 

 

Q19. Find the number of triangles in the given figure.  

 
(a) 22  

(b) 24  

(c) 26  

(d) 28 

 

Q20. Raj travelled from a point X straight towards east to Y a distance of 80 meters. He turned 

right and walked 50 meters, then again turned right and walked 70 meters. Finally, he turned 

right and walked 50 meters. How far is he from the starting point?  

(a) 10 meters 

(b) 20 meters 

(c) 50 meters 

(d) 70 meters 

 

Q21. Select the related word/letters/number from the given alternatives. 

FUNGI : MYCOLOGY : : TISSUE : ??  

(a) Hematology 

(b) Cytology 

(c) Histology 

(d) Bacteriology 

 

Q22. Find out the odd word/letters/number pair from the given alternatives. 

(a) Arithmetic 

(b) Mathematics 

(c) Geometry 

(d) Algebra 

 

Q23. Choose the correct alternative from the given ones that will 

complete the series 

BFK, KOT, UYD, ?  

(a) BFJ 

(b) ADG 

(c) FJO 

(d) PSX 
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Q24. Find the missing number in the series 

2, 3, 8, ?, 112, 565  

(a) 565 

(b) 112 

(c) 27 

(d) 8 

 

Q25. A woman pointing to a man said, "He is the widower of my uncle's brother's daughter." How is 

the man related to the woman?  

(a) Brother-in-law 

(b) Brother 

(c) Uncle 

(d) Nephew 

 

Q26. P, Q, R and S are four friends. P is shorter than Q but taller than R who is shorter than S. Who 

is the shortest among all?  

(a) P 

(b) Q 

(c) R 

(d) S 

 

Q27. From the given alternative words, select the word which cannot be formed using the letter of 

the given word.  

IMPRACTICABLE 

(a) CAPABLE 

(b) PARTICLE 

(c) PRACTICAL 

(d) PEACE 

 

Q28. If BROTHER is coded as GWTYMJW, then SCHOOL is coded as  

(a) WGLSSP 

(b) WGLSSQ 

(c) XHMTTQ 

(d) XHMTTP 

 

Q29. Select the missing number from the given responses.  

 
(a) 45 

(b) 65 

(c) 70 

(d) 80 
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Q30. Identify the diagram that best represents the relationship 

among classes given below Men, Rodents and living beings  

(a)  

 
(b)  

 
(c)  

 
(d)  
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